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G.r\pFkhu; ( National Dip.in teaching ) gf;fk; 1 
 

myF : %yfq;fspdJk; Nru;itfspdJk; mstwpjy; - 2 

 

rhu; %yf;$w;Wj;jpzpT  
 

 xd;Wf;nfhd;W NtWgl;l mZf;fs; Nru;f;ifailtjdhy; Njhd;Wk; %yf;$Wfs; 
Nru;itfs; MFk;. 

 Nru;it %yf;$Wfs; gy;ypd mZ %yf;$Wfs; MFk;.  

 cjhuzk; : CO2 , H2O  
 %yf %yf;$Wfs; Xupd mZ %yf;$Wfs; MFk;.  

 cjhuzk; : O2 , N2 , H2 , Cl2  
 %yfk; my;yJ Nru;it %yf;$nwhd;wpd; jpzpT mZj;jpzpT myifg; Nghd;W vj;jid 
klq;F vd;gJ Fwpj;j %yfj;jpd; my;yJ Nru;itapd; rhu; %yf;$w;Wj;jpzpT vdg;gLk;. 
 
 

   rhu; %yf;$w;Wj;jpzpT  = 

 

 

 

   rhu; %yf;$w;Wj;jpzpT  = 

 

%yfk; my;yJ 
Nru;it 

%yf;$nwhd;wpd; 
jpzpT 

mZj;jpzpT 
myF 

rhu; %yf;$w;Wj;jpzpT 

 
ePu; 

H2O 

 

 

 

 

 

 

2.99 x 10
-23 

g 
 

 

1.67 x 10
-24 

g 
 

 

 
fhgdPnuhl;irl;L 

CO2 

 

 

 

 

 

 

7.31 x 10
-23 

g 
 

 

1.67 x 10
-24 

g 
 

 

 
FNshupd; 

Cl2 

 

 

 

 

 

 

11.806 x 10
-23 

g 
 

 

1.67 x 10
-24 

g 
 

 

 

 %yfk; my;yJ Nru;it %yf;$wpd; jpzpT 

           mZj;jpzpT myF 

 %yfk; my;yJ Nru;it %yf;$wpd; jpzpT 

             1.67 x 10
-24 

g 



tpQ;Qhdk; - juk; 10 

 

G.r\pFkhu; ( National Dip.in teaching ) gf;fk; 2 
 

 %yfk; my;yJ Nru;it %yf;$nwhd;wpd; jpzpT 12
6C rkjhdp mZnthd;wpd; jpzptpd;   

 

  
 gq;ifg; Nghd;W vj;jid klq;F vd;gJ Fwpj;j %yfj;jpd; my;yJ Nru;itapd; rhu; 

%yf;$w;Wj;jpzpT vdg;gLk;. 
 
 

   rhu; %yf;$w;Wj;jpzpT  = 

 

 

 

   rhu; %yf;$w;Wj;jpzpT  = 

 

%yfk; my;yJ 
Nru;it; 

%yf;$nwhd;wpd; 
jpzpT 

12
6C rkjhdp 

mZnthd;wpd; 

jpzpT x  
 

  
 

rhu; %yf;$w;Wj;jpzpT   

 
ePu; 

H2O 
 
 
 

 

 

2.99 x 10
-23 

g 
 

 

1.993 x 10
-23 

g x  
 

  
 

 

 

 
fhgdPnuhl;irl;L 

CO2 

 
 
 

 

 

7.31 x 10
-23 

g 
 

 

1.993 x 10
-23 

g x  
 

  
 

 

 

 
FNshupd; 

Cl2 

 
 
 

 

 

11.806 x 10
-23 

g 
 

 

1.993 x 10
-23 

g x  
 

  
 

 

 

 

tpdhf;fs; :  

1. rhu; %yf;$w;Wj;jpzptpw;F myF cz;lh? 
 

2. rhu; %yf;$w;Wj;jpzpT njhlu;ghd mwpitg; gad;gLj;jp %yf;$nwhd;wpd;  jpzpitf; 
fzpg;gjw;fhd rkd;ghnlhd;iw cUthf;Ff. 
 
 
 
 
 
 
 
 

%yfk; my;yJ Nru;it %yf;$wpd; jpzpT 

12
6C rkjhdp mZnthd;wpd; jpzpT x  

𝟏

𝟏𝟐
  

%yfk; my;yJ Nru;it %yf;$wpd; jpzpT 

       1.993 x 10
-23 

g x  
𝟏

𝟏𝟐
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G.r\pFkhu; ( National Dip.in teaching ) gf;fk; 3 
 

 %yfq;fspd; rhuZj;jpzpTfisg; gad;gLj;jp Nru;itfspd; rhu; %yf;$w;Wj;jpzpitf; 
fzpf;fyhk;. 

 Fwpj;j %yf;$nwhd;wpYs;s mZf;fspd; rhuZj;jpzpTfspd; $l;Lj;njhif mjd; rhu; 
%yf;$w;Wj;jpzpthFk;.  

 
%yf;$W 

 

 
rhu;%yf;$w;Wj; jpzpT 

 

CO2 

 

= ( 12 x 1 ) + ( 16 x 2 )  

= 12 + 32  

= 44 

 

 

H2O 

 

= ( 1 x 2 ) + ( 16 x 1 ) 

= 2 + 16 

= 18 

 

 

O2 

 

= 16 x 2  

= 32 

 

 

N2 

 

= 14 x 2 

= 28 

 

 

C6H12O6 

 

=  ( 12 x 6 ) + ( 1 x 12 ) + ( 16 x 6 ) 

= 72 + 12 + 96 

= 180 

 

 

CO(NH2)2 

 

= ( 12 x 1 ) + ( 16 x 1 ) + ( 14 x 2 ) + ( 1 x 4 ) 

= 12 + 16 + 28 + 4 

= 60 

 
 

 mad; Nru;itfs; %yf;$Wfshff; fhzg;gLtjpy;iy. 

 mad; Nru;itfs; mad; rhyf tbtpy; fhzg;gLk;. 

 mad; Nru;itfspy; mad;fs; fhzg;gLk; vspa tpfpjj;ijf; Fwpg;gpLtjd; %yk; mtw;wpd; 
#j;jpuk; vOjg;gLk;. 

 mad; Nru;itfspd; #j;jpuj;Jf;Fupa jpzpT rhu; %yf;$w;Wj; jpzpthff; nfhs;sg;gLk;.  

mad; Nru;it #j;jpuj; jpzpT 
NaCl = 23 + 35.5 

= 58.5 

MgO = 24 + 16 

= 40 

Li2O = ( 7 x 2 ) + ( 16 x 1 ) 

= 14 + 16 

= 30 
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G.r\pFkhu; ( National Dip.in teaching ) gf;fk; 4 
 

 ml;ltiziag; G+uzg;gLj;Jf. 

 
Nru;it 

 
#j;jpuk; 

 
mZf;fspd; 
vz;zpf;if 

 
rhu; %yf;$w;Wj; jpzpT 

 
1. nkNjd; 

 

CH4 

 

 

  

 
2. Ijurd; 

FNshiul;L  

 

HCl 

 

 

  

 
3. fhgdhw;FNshiul;L  

 

CCl4 

 

 

  

 
4. mNkhdpah 

 

NH3 

 

 

  

 
5. Rf;FNuhR 

 

C12H22O11 

 

 

  

 
6. fe;jftPnuhl;irl;L 

 

SO2 

 

 

  

 
7. vijy; mw;fNfhy; 

 

CH3CH2OH 

 

 

  

 
8. ry;G+upf;fkpyk; 

 

H2SO4 

 

 

  

 
9. A+upah 

 

CO(NH2)2 

 

 

  

 
10. FSf;NfhR 

 

C6H12O6 

 

 

  

 


